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8.1 BAEANXZE (% 1&H)

1. 7.
(1) TR -8a’bc* +16a%b3c WAHRKXE
(2) 1522y +25zy*=5zy ( )
(3) gab*+2a?=____ (8+4c)

2. oA
(1) 4my+6ny=
(2) —9ab*+3a’b —24a’b*c=
(3) (=2)"a (2P =
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8.1 RABERZE (% 2RH)

EHEFEIANMAS (ES8RS), fAAS5EaHE%.

a—-b=_(b—a) (z—-y)=_(y—x)*
(z—y)»=_(y—-z)? -a’+b%=_ (a*-0?)
. B

TR, BARAESESMEESE ().
(A) —2a(z+y)+3b(z—y)

(B) a®*+b>—(a—b)

(C) —d4mn(x—y)*—m(y—=x)

(D) (2-a)*-(4-0b)°

2% -

(1) 125a%6(x—y)*-75ab*(y— z)3

(2) Tm(a—-b6)+21n(b—a)*—14(b—a)

FOAE RIS —A Bk, AP TER.

B/ (1) MFAEEERSE, OC

B (2) BANESE (1) EEEHE, @
RN RARMERS ().
(A) B (1) fAidE% (B) A (2) AklEZL
(C) BFHR— (D) AHizE, Tt

(D (2)



8.1 RABENZE (F 3RH)

R ER
(1) —6a3b%c*+8a%b3c® — 12a* bc?

2) m(z=-1)(z—-3)+n(1-z)(3—=x)

(3) x(a+b—c)— ylc—=m=B)—a=btc

(4) 5.84%2.6+18.4X5.84—5.84%X20

Sax"+ b 1+ "}




8.2 BEAARXE (F 1&W)

1. EHZ:
(1) (1-5a)(1+5a) (2D {3m =P Brn —2n)
(3) 0.095%=( ) (4) %mzn4: )
2. R

TR RAR, EHEOR ( ).
(A) a?=5b*=(a+5b)(a—5b)
(B) 62— a%’=(6-a)?

(C) 4a%-9b*=(2a+3b)(2a —3b)
(D) a?-b*=(a—b)(a—b)

AT

3. EK:
14442 - 25b% = ( )2 - ( )2
=4 )( )
1_11_4123,2:
4. FIARKX>EITE:

Lya-Lya-1y..a-L
(1-9U-5) -5 (1-15)



8.2 BERAANZE (F 2RH)

iR AR
(1) z*2-(a+b)?
=[xz +( Nz—-C )

2 ) )
(2) 4(a—-b)-9(a+b)?
=( P-§ Y
=00 a0 (IG5 )= G %)
= )
@) F2-20
=22l )
=3z ()
4 1=z
=C ) Cr

=, )( )( )

(5) MA@, KEFEAKN a, NFIEE—

RN o K/NETE, NETRERBERA ).

(A) 2(a—b) (B) (a—5)?
(C) a?-2ab (D) (a+b)(a—b)
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8.2 BRANXZE (% 3RH)

. EER:
2= xy+ 3697 =( Yo )( )+ (
=( )?
jﬁ?:
_ +49a2+p*=(__ -b)%
H9x?+tkx+4=0Bz -2 ,Mr=__
. PIIRZIA, EAEL YT AR RERAE(
(A) 6b+1+9b>
(B) a’+b%—4ab
(C) a®—4ab—4b*
(D) a*-81»7
. HRER:

=222y + y?=

)2



8.2 BEBRAANXZE (F 4Rw)

. FHIREX M, ERAE( ).

(A)- wi? + 20l + wed Sl Eha R

(B) mx2+2m2x+m3=m(1+m2)2

(C) maz?+2mic+ md={miz+ BE

(D) mx?+2m2z+mi=m(x+m)?
. ETH&EHEALE EESHBFRFEE, XK TR
—AREFHR:

(1) Da2—6a+l

(2) 4a2+| Jab+250*

(3) 49a%—28ac+[ |

. B

—2ab-a*-b*=

a®—4a*b+4ab*=

(a+b)*-2(a+b)+1=
L E 22 +2(m =3)z +16 RELFHK, W m KERN
(). Gradts xMaaria

(A) -5 (B) 7 (C) -1 (D) 78 -1
. HE ‘
199?=




8.2 BRANZE (% 5SRH %JR)

1. EFHIRFH:
@D 2-9+z=(z+3) (x—3)*=
@ ab®-2ab?=ab*(b-2)
@ 75a%b=25a%3b
@ —a’+b*=(a+b)(b—a)=b>—d?
MNZEQBIABER, REXBOE( ).
(A) 14 (B) 24 (C) 34 (D) 44
2. HRBAHERESMERX, 4m(a—b6) —8n(b—a)HAH
RRHR( ). :
(A) 4m —8n
(B) 4
(C) a—b
(D) 4(a—b)
3. ER#:

+ o=
a” Z_an_

{e*—5F +22*-5)+1=




8.3 NANMEE (F1RW)

1. AN B m® — mn +3n - 3m HMERERX, FIEFKS

HR(

2

(A) BERX=(m?>-mn)+Bn—-3m)

(B) BERX=(m?+3n)— (mn+3m)

(C) BERX=(m?-3m)— (mn—3n)
2. A=

(1)

(2)

(3)

(4)

Smx +6ny+Smy+6nx
=(5mx +5my) + (6ny+6nx)
=5m( ) +6n( )

Smx+6ny—Smy—6nx
= (5mx —6nx) + (6ny—Smy)

={ )+ )




8.3 SAGME (F 2RH)
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(1)

(2)

(3)

(4)

a*+3a*+3a+9

ax+tbx+cxtayt+tby+cy

m?2+Sn—m(Sn+1)

aytzx+y+1l




